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Mathematics/P2 2

NOTE:

NSC Marking Guideline

If a candidate answered a question TWICE, mark only the FIRST attempt.
If a candidate crossed out an answer and did not redo it, mark the crossed-out answer.
Consistent accuracy applies to ALL aspects of the marking guiselines.
Assuming values/answers in order to solve a problem is unacceptable.

MDE/September 2024

QUESTION 1
7 9 9 13 17 21 24 26 27
1.1 Minimum="7 v
0 =9 V9
0, =17 V17
%
Maximum=27
©)
1.2 v Whiskers
v 0,0,
- H
L e e I
2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 3)
1.3 Equally distributed/ Centrally skewed v' Answer.
1)
L4 | x=17 v x—ox
ox =738 v" Answer
x—ox=17-738
=9,62 2)
Only 8 learners
1.5.1 | ox=17,38 v" Answer.
(1)
1.52 | x=19 v" Answer.
1)
1.53 | 0, =27 v" Answer.
(1)
[13]
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QUESTION 2
2.1 | 60parents v" Answer. (D
2.2 | 1000< x <1500 v' Answer. (1)
23 | 46 v v Answer.
2)
24 | IQR =1850-1000 v IQR
=850
3
~.Semi—IQR = %)
— 425 v' Answer.
3)
[7]
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QUESTION 3

[T

NSC Marking Guideline

L(as5)

MDE/September 2024

Q(3;0)

JR(1; -8)
3.1 2 P v’ correct subst into the
R =X, -%X,) +y, -
Q \/( ’ 1) (Y2 YI) distance formula.
QR =+/(3-1) +(0+8)
QR = /68
QR =217 v 2317
QR =825
2
3.2 0—(-8) v’ Subst into the formula.
My =
3-1
-
o2 v" Answer. )
Myp =4
33 1 v ' m
mSE = _Z SE
3 1 ( 1)+ v substitution S(—l;—3)
—YJ=—_"|(—= C
4
13 v" Answer.
c=——
4
__1. .13
47 4 €)
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34 v (_1+1._3_gj v Midpoint
NA
2 2 v’ Substitution
11
_MSE(O’_?) v" Answer.
(x— a)2 + (y —b)2 =7’ 3)
2
(x—O)2 +(y+%j z(\/ﬁ)z
11
x2 J{ +—j =17
e
3.5 Myy =mg, =4 v" Gradient
4 543 v’ Substitution
1 a+l v' Answer
8=4a+4
4=4da €)
a= OR
OR v Gradient
—3=4(-D+c v Substitution
c=1
y=dx+1 v" Answer
5=4a+1 (3)
a=1
tang = 4 v' 75,96°
6 = 75,96° (2)
362[ —_8-(3) VI
TTI-(D i
5 v tanf = —=
2
. 5
anf = >
= 180° — 68,20° v’ 111,80°
=111,80°
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TSP = 111,80° — 75,96° extzofa A
= 35,84° v’ 35,84°
R=35,840 corresp..zs (PS I RQ) v  R=135840 (5)
3.7 dyy = J29 d =217 v Subst..into the correct
sp
formula
Areaof PSRQ = Area ASPQ + Area AQRS
1 v V29
~- (V29)2v17)sin35.84 -
v Y2
— 2(1 3) 2 T 2,69 (3)
=26

[23]

Copyright reserved

Please turn over




Mathematics/P2 7

NSC Marking Guideline

MDE/September 2024

QUESTION 4

L 4

4.1 C(-1;-1)

v x — value.
vy —value.

2)
4.2 " 1+l v Substitution
tan gent _ 3 + 1 ‘/ an gent
% o .
1=1(-3)+c Substitution A( 3; 1)
v' Answer
c=4 4
y+x+4 (
43 | D(1;-3) v Substitution D(1;—3)
v" Equation
=3=1()+c v" Notation
c=-4 v’ Critical Values
y=x-4 )
—-4<k<4
44 | D=33°  [Tan-Chord Theorem] V'S v R
ACB = 66° [ £ at centre=2x Z atcircuferenmce | VS YR
Q)
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45 | C(-3;-2) r=2
v" Substitution
dep =(-1+3) +(=1+2) Y dey
_5
=224 Y T
v" Answer
Toy =2+ J6
=4,45 4)
~.dqp <y, the circlesintersecttwice.
[18]
QUESTION 5
5.1.1
(k) +»* =)
2 2
k> +y =1 N E
y=+J1-k’
Ly=Al1-k7 v' Answer )
sinl1°=+1-k’
512 | sin2(11°)=2sin(11°) cos(l 1°) v Expansion
o[k k) v 2k
=2kN1-k* 2)
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5.13 | cos19°=cos(30°—11°)
=c0s30°cos11° +sin30°sinl 1° v —c0s60’
v’ tan45
_[SBYE) (LR
2 N1 2 1 1
R0
3k 1=k
2 2 @)
Bk
2
514 cos11°=cos2(5,5°) = k v 2co0s*(5,5°) -1
2cos’55°-1=k v Simplification
v
2c0s*5,5° k+1 Answer
2 2
3
Jcos?5,5° = —k 1 ©
2
c0s5,5° = ﬂ
2
59 sin25°(— cosx)2sinxcosx v —cosx
. cos’ x.sin25° Y 2sinxcosx
, . v cos’ x
_ —2cos” xsinx v sin25°
cos’ x v" Answer. 3)
=—2sinx
531 sinx —cosx  sinx +cosx v (sinx—cosx)2
sinx +cosx SInX—CoSXx v (sinx+cosx)2
) 2 . 2
B (smx - cosx) - (s1nx + cos)
(sinx + cosx)(sin x — cosx) v Simplification
sin® x —2sinxcosx + cos’ x — (sin2 X +2sinxcosx + cos’ x) .
= — 5 v’ 2sin2x
sin” x —cos” x
_ —4sinxcosx v cos2x
- (cos2 x —sin? x) Q)

B 2sin2x

cos2x
=2tan2x
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539 cosx+sinx=0
o COSX = —sinx v' cosx+sinx=0
v x=135°
tan x = —1
x=135°+k180°,keZ
cosx—sinx =0 v cosx—sinx=0
cosX =sinx v yed
tanx =1
x=45°+k180°, ke Z
“4)
[24]
QUESTION 6
6.1 f(x)
" v/ x — intercepts
: : v’y — intercept
f
/ v’ Shape.
-gb;(w/ | gbn ) 18‘00 g(X)
1 v’ x and y — intercept
v Shape.
)
6.2 sin(x—45°): cos2x
sin(x — 45°) = sin(90° - 2x) v sin(90° - 2x)
x—45°=90°-2x v xo a5
x:45°—120°k,keZ v —1200k,k€Z
x—45°=180°—(90°—2x)
x—45°=90°+2x v y—_135°
—-x=135+k360°,keZ 4)
x=-135°-£k360°%k eZ
6.3.1 0° < x < 45° v 0°< x<45°
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165° < x <180 v 165° < x <18
2
6.3.2 0° < x < 45° v’ Notation
v" Endpoints. ()
[13]
QUESTION 7
c .
7.1 | DB v'Trig ratio
—— =cosb
k v
BD = kcos0 BD
In ACDB
CD =DB =kcos8
N v
CB* = CD? + DB* —2CD.BD cosD Correct
substitution
CB? = (kcos@) +(kcos@) —2(kcos@)k cos@)cos26 v'Simplification
CB? = k? cos> @+ k? cos® @ — 2k* cos® O.cos26
v'1—cos26
CB* = 2k* cos’ 9(1—005249) V1—sin2@
CB? = 2k* cos’ O(1 (1 - 2sin” 0))
% .
:2k2 COSZ 9.2Sin29 2kCOSl9.Slnl9
CD = 4k* cos> .2sin> 0 (7
=2k cosf.sinf
CD = ksin26
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7.2 | CD =(10)cos2(30°) v Substitution
=5 v CD
Area = 1 CD.BDsin D v’ Substistution
2 v" Answer
1
=—(5)(5)sin60°
200 @
253
4
=10,83
[11]
QUESTION 8
8.1
A
C
B
Construction: Draw OA produced to E ; Construction.
A +B=0, [Ext 2 of A] SR
04 = 0B [ Radii] /SVYR
A, =B [2 opp = sides.]
o 01 = ZAl
Similarly 0, = 24,
A A " A v S/R
oo 01 + 01 = 2A1 + 2A2
o 01 + 01 = Z(Al + Az)
()
82.1. | 0; =46 [2at centre = 2 x £ at cicumference] | ¥ SY R (2)
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822. |D, = B, [£ opp = sides] V'SV R
B, =23° [sum of £'sin A] Y SR ®)
823. | A, =23° [tan chord theorem] v SY R (2)
824. |(, =23° [=chords = 2's] v SY R (2)
8.2.5. |0CD = 46 [Alt 2's, BO//CD] v S/R
CA'Z =460 — 61
C, = 23° V'S )
[16]
QUESTION 9
9.1. T;=K =x [Alt £'s TW || SK] v S/R
W, =K, =x [£'s in the same seg] j 2 ;{R
WSK =W, = [Alt 2's TW || SK] @)
9.2. 0, = 2x [£ at centre = 2 X £ at circumference] | V' S V' R
FE, =2x [Ext 2's of a A] \‘;S/R 4
SOFT is a cyclic quad [converse £'s in the same seg] R )
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9.3. S0 =TO
01 = Zx

[Radii]
[Proven]

ST = \/2(50)% — 2(50)? cos? 2x
ST = /2(50)%(1 — cos? 2x)

ST = /2(50)%(2 sin? x)

ST =+/4(50)? sin? x)

ST = 250 sinx

in ASTO:

SO =TO

T, =TSO =90° — x
ST SO

sin2x sin(90° — x)
ST cosx = 250 sinx cos x
ST cos x _ 250 sin x cos x

ST = /2(S0)?[1 — (1 — 2sin?x)]

OR

[Radii]
[sum of £'s in A]

v'S/R

v’ Sub in correct formula
v' Double angle

v Square root

(4)

v'S/R

v Sub in correct formula

v" Double angle

= v Dividing by cos x
cos x CoS X
ST = 250 sinx 4)
[12]
QUESTION 10
C
3
E
10.1. | B, =D, [£'s opp = sides] v’ S/R
B,=E [Ext £'s of cyclic quad] V' S/R
ﬁl—E [EaCh=§1] \/R
BD//CE [corresp £'s =] 3)
10.2. 2 2 v'S/R
DE 3 [prop theorem, BD //CE]
2DE _ 6
5 v" Answer ()
DE =3 cm
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10.3. in AADB & A AEC
A=A [common £] v S/R
D,=E [corresp £'s,BD//CE] v SR
B,=¢C [corresp £'s, BD//CE] v S/R
AADB ||| AAEC [A.A.A] 3)
104. |AD _ BD v'S/R
— = /1’s
AE EC [/77°s]
2 4
5 EC
2B _ 20 v" Answer @)
2 2
EC=10cm
10.5. Area AECD  Area AECD y Area AACE
Area AABD ~ Area AACE = Area AABD
_ 2ECEDsinE o ~AB.ADsin A v' Formula
-1 P 1 S
SECAESinE  ZACAEsinA v Substitution
3
— 3« (@)
5 (5)(5)
12
~ 125 v' Answer 3)
[13]
TOTAL: | | 150 |
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